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\ This question paper consists of TWO SECTIONS

SECTION A
QUESTION 1. CLIMATE AND WEATHER (60)
QUESTION 2. GEOMORPHOLOGY (60)

SECTION B
QUESTION 3: GEOGRAPHICAL SKILLS AND TECHNIQUES (30)

2. Answer ALL three questions.

3 All diagrams are included in the QUESTION PAPER.

4. Leave a line between subsections of questions answered.

5. Start EACH question at the top of a NEW page.

6. Numper the answers correctly according to the numbering system used in this
question paper.

7. Do NOT write in the margins of the ANSWER BOOK.

8. Draw fully labelled diagrams when instructed to do so.

9. Answer in FULL SENTENCES, except when you have to state, name, identify or

list.

10. Units of measurement MUST be indicated in your final answer, .g. 1 020 hPa,

14°C and 45 m.
11.  Youmay use a non-programmable calculator.
12. You may use a magnifying glass.

13.  Wirite neatly and legibly.
SPECIFIC INSTRUCTIONS AND INFORMATION FOR SECTION B

14 A1:50 000 topoaraphic map 3224BC GRAAFF REINET and a 1 : 10 000
0 map 3224E SRAAFF REINET are provided.

15. The area dema ED/BLACK on the topographical map represents the
16. Marks will be allocated for steps in calculations.

17.  You must hand in the topographical and the orthophoto map to the invigilator at the
end of this examination session.
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SECTION A: CLIMATE AND WEATHER AND GEOMORPHOLOGY
QUESTION 1: CLIMATE AND WEATHER

1.1 Refer to the weather map below. Complete the statements in COLUMN A with the
options in COLUMN B. Write only Y or Z next to the question numbers (1.1.110 1.1.7)
in the ANSWER BOOK, e.g. 1.1.8 Z.

15° . , .
50 T wArTICT / 45° €

NAMIBIA

[Adapted from: https //www researchgate net/figure/A-synoptic- ressure-chart-at-mean-

sea- level-basedonSouth African-Weather-Bureau-records_fig2 255654239

ST

COLUMN A COLUMN B
1.1.1 The synoptic map above represents the ... | Y winter
season. Z summer
1.1.2 The weather station model at Xisinthe ... |Y cold sector
Z  warm sector
1.1.3 The temperature in Lesotho will most|Y  high
probably be ... Z low
1.1.4 The area of constant pressure between two | Y saddle
_highs and two lows at W is called ... Z ridge
1.1.5 The pressure cell found at Uisthe south ... | Y  Indian
high pressure cell. Z___ Atlantic
1.1.6 The pressure reading at the Cut-off low in | Y 1010
Mozambique is ... hPa. Z 1008
1.1.7 The wind direction from U to X will most | Y south easterly
likely bein a ... direction. Z north westerly

(7x1) (@)
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12 Various options are provided as possible answers to the following questions.
Choose the answer and write only the letter (A-D) next to the question numbers
(12110 128) in the ANSWER BOOK, e.g. 1.29A

Refer to the photo below illustrating the rural area and the city to answer
QUESTIONS 1.2.1t01.24.

. RURAL AREA

SN

-—

[Adapted from: https //wxquys.ssec wisc edu/20 6

121 Evapotranspiration is ... in the rural areas because open spaces
reflect ... energy out to space.

(i) higher
(ii) lower

(iii) solar

(iv) terrestrial

A (i) and (iv)
B (i) and (ii)
C (i) and (iv)
D (i) and (iii)

122 Cities experience less wind circulation because ...
A buildings are tall.
B buildings have more glass.

C buildings are of darker materials.
D buildings are built of concrete.

1.2.3 This is NOT a reason for the development of the heat island.

A artificial surface materials
B artificial sources of heat
C density of bulidings

D aspect
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1.24 The pressure gradient that exists between the rural area and the city
is mainly because of ...

A high pressure in the city.

B low pressure in the rural area.

C high pressure in the rural area.

D high temperature in the rural area.

Refer to the diagram below showing the pollution dome to answer
QUESTIONS 1.2.5t0 1.2.8.

[Adapted from: hitps:/iytima.com/vi/saRgtwxX4W4/maxresdefault ipa]
1.25 The ... is/are responsible for the reduced insolation in the city.

A pollution dome/s
B tall buildings

C sun

D reflection

1.26 The pollution dome expands during the day mainly because of ...

A more human activities.
B cloud cover.
C heatisland.
D evaporation.

1.2.7 The main cause of the dome in the diagram above is ...
A warm air.
B dust.

C urban air flow.
D infrared.
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1.3.1 Identify the front in the Mid-latitude cyclone that will lead to the

development of cumulonimbus clouds. (1x1) (1)
1.3.2 Briefly explain how cumulonimbus clouds are formed. (1x2) (2
1.3.3 Draw a sketch map to illustrate the satellite image. 2x1) (2

1.3.4 How will the Cumulonimbus clouds change the weather of Cape
Town? (2x2) (4

1.3.5 Explain how the cumulonimbus clouds can be expected to increase
the water levels in the Western Cape. (3x2) (8)

1.4 Refer to the infographic below on Tropical cyclone Freddy.

TRACK OF TROPICAL CYCLONE FREDDY

g - LESOTHO :

METEO —

FRANCE ) :

 25°00E 3800 AQ'OOE. . .. .. AS'DOE S0'00E d
[Adapted from: hitps://www. : t -life-tropi clone-

Record-breaking Tropical Cyclone Freddy

According to the National Oceanic and Atmospheric Administration, no
tropical cyclones had taken such a path across the Indian Ocean in the past
two decades. On March 7, Freddy became the longest-lived tropical cyclone
ever recorded and was at that time officially Earth's most energetic storm ever
observed.

Cyclone Freddy made landfall on Madagascar's eastern coast, near
Mananjary, on February 21. Freddy then moved across the Mozambique
Channel and made landfall in Mozambique's Inhambane province on
February 24. Cyclone Freddy made its third landfall in total and its second
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landfall in Mozambique on March 11 in Zambézia province, with maximum
winds of almost 92 miles per hour (148 kilometers per hour). Freddy moved
over land as a tropical depression, with a localized center close to the border
between Mozambique and the southern tip of Malawi, a landlocked country.
Although the system dissipated, it still generated intense rainfall in the interior
of Mozambique and southern Malawi.

[Adapted from: hitps.//d isasterghilanlhrongogg!disastersftrogicaf-cxclonefreddﬁ|

1.4.1 State the direction of tropical cyclone Freddy across the
Mozambique channel towards Mozambique as shown on the map.
(1x1) (1)

1.4.2 Inthe text, (third paragraph), tropical cyclone Freddy is regarded as a
tropical depression.

a) On what basis has it been classified as a tropical depression?
(1x2) (2

b) What impact will wind traveling at 148km/h velocity (speed) have
on the natural vegetation in Mozambique? 2x2) (4)

1.4.3 The map depicts an erratic (unpredictable) path of a tropical cyclone,
Freddy. In a paragraph of approximately EIGHT lines, give possible
reasons for the erratic path it followed and why this creates problems
for disaster management teams to effectively manage the impact of

tropical cyclones. (4x2) (8
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1.5 Refer to the diagram below showing the Inversion layer.

NW/September 2024

PHOTOGRAPH

4|
3
&
|w
Temp. Increases
s ke
[Examiner's own [Adapted from:
sketchl https //globalnews ca/wp-content/uploads/2022/01/Capture3-
- 2 pna}
rsion layer. (1x2) (2
] ons favourable for the formation of the inversion
la Bx1) (3
.’ L LN _-
1.5. #ve a reason for the trapped smoke/pollution near the surface.
(1x2) (2
1.5.4 Study the graph above and describe the sequence of changes of
temperature with altitude. (2x2) (4)
1.5.5 Explain how the trapped smoke/pollution will negatively impact on the
health of the people. 2x2) (4
[60]
Copyright reserved Please turn over
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QUESTION 2: GEOMORPHOLOGY

2.1 Refer to drainage basins P and Q below which have different drainage
densities. Match the descriptions in QUESTIONS 2.1.1 to 2.1.5 with P and Q.
Write only P or Q next to the question number (2.1.1 to 2.1.8) in the
ANSWER BOOK, eg.2.19Q

—Tw £~
— - -

[Source: Examiner's own sketch]
2.1.1 Dense vegetation cover that prevents surface run-off

2.1.2 A drainage basin that experiences high rainfall

2.1.3 Adrainage basin that has mainly clay soils

2.1.4 Adrainage basin that has mainly permeable rock

2.15 Rivers in this drainage basin flow through hilly areas

2.1.6 Adrainage basin that has porous rock with sandy soils

2.1.7 A drainage basin found in gently sloping land

2.1.8 A drainage basin with the highest stream order 8x1) (8)
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2.2 Various options are provided as possible answers to the following questions.
Choose the answer and write only the letter (A-D) next to the question numbers
(2.2.1t02.2.7) in the ANSWER BOOK, e.g. 2.2.8 D.

Refer to the sketch below showing the flow pattern of a river to answer
QUESTIONS 2.2.1t02.2.3.

[Source: Examiner's own sketch]
2.2.1 This flow pattern takes place in the ... of the river.

A lower course
B upper course
C floodplain
D meander

2.2.2 The velocity of the river experienced in this flow pattern is ... as a
result of ... gradient.

(i) low
(i) high
(i) gentler
(iv) steeper

A (iii) and (ii)
B (i) and (iv)
C (i) and (iii)
D (i) and (iv)
2.2.3 The flow pattern illustrated in the figure is a ... pattern.
A dendritic
B turbulent

C laminar
D trellis
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227 Theriverflowat3 ... and ... takes place.

slows down; erosion

slows down; deposition

increases; erosion

increases; deposition 7x1) (@)

oOom>

2.3 Refer to DIAGRAM A and DIAGRAM B on fluvial landforms below.

DIAGRAM A FLOODPLAIN

[Adaptedfrom:
https//rossettgeography.weebly.

com/floodplains-levees-
estuaries.html]

[Adapted from:
www.t oom.co.zw/medi
.ong]
2.3.1 Define the geographical term floodplain. (1x2) (2)
2.3.2 DIAGRAM B indicates the enlarged part of the levee in
DIAGRAM A.
a) What type of profile is shown here? (1x1) (1)

b) Explain how and why the dimensions (shapes) of the river valley,
illustrated in DIAGRAM B (width and depth), will change once
rejuvenation occurs. (2x2)  (4)

c) Briefly describe the process in the formation of the natural levee
in DIAGRAM B. (4x2) (8)
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2.4 Refer to the infographic below on the processs of river capture.

Tallulah gorge After

1600 -
1400 1
1200 ‘
1000 -
| Tallulah River Tallulah Gorge
800 -
600 'R \
onl 000 e e G
| /
200 Chattooga River

10000 20000 20000 40000 50000 60000 70000 80000 50000

[Adapted from: htlps:ﬂbl@s.agu.orgm:aﬁelglﬁlesfmzzm1{1:_:roﬁle—1.iml

241 Which river between Tallulah River and Chattooga River is a
captured stream? (1x1) (1)

242 Refer to Graph B above and determine the height of the Tallulah
gorge. (1x2) (2)

2.4.3 Draw a sketch to illustrate the area after river capture has taken
place. Clearly indicate the following land forms: watershed; wind gap
and the misfit stream. (4x1) (4)

2.4.4 Name and explain the fluvial landform that will develop at Tallulah
gorge. (2x2) (4)

245 The divide at C is migrating upstream. Explain how this occurs.
(2x2) (4)
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2.5 Refer to the extract below on strategies to manage catchment areas.

Water Availability and Uses at the National and Regional Level

Water use in South Africa is determined by conditions of climate, geography
and history. Water is generally scarce with a mean annual rainfall that ranges
from 301 mm/annum in the Karoo Region to 815 mm/annum in the Eastern
Coastal Region. Rainfall in South Africa is highly seasonal and variable,
especially in the more arid areas where unpredictable droughts occur.

The total surface runoff is only 50,150 m%annum with 60% of this arising
from only 20% of the land area. Most of the larger rivers draining the country
are shared by one or more neighboring states. And due to streamflow
variability the estimated maximum yield is 33,290 Mm3/annum.

Groundwater in South Africa is scarce, although it has played a key role in
the settlement and initial development of the country. In rural areas today,
groundwater is still of great importance.

The total water use for 2022 was estimated as 20,045 Mm?a with the
following distribution categories of uses:

- |rrigation 54%
- Environment 19%
- Domestic and Urban 11%
- Mining and large industries 8%
- Afforestation 8%

In South Africa the term “afforestation” refers to forestation, or the growing
of trees on a piece of land.

The natural scarcity of water is also aggravated for the following reasons:
most of the main metropolitan areas and industrial growth centers have
developed around mineral deposit and harbor sites, and are situated far from
river courses.

Some of the irrigation developments were originally established in regions
where water was still relatively abundant, but now water has become scarce
in those regions; and in several catchment areas the water requirements far

exceed availability.

[Adapted from: https/Awww fao org/3/x9419e/x9419e08 htm]

2.5.1  What is the minimum mean annual rainfall in the Karoo Region of

South Africa? (Ix1) (1)
2.5.2 Define the concept ground water. (1x2) (2)~
Please turn over
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253 Elaborate on how afforestation(growing of trees) and rainfall will

influence ground water levels. (2 x2) (4)
254 Describe the relationship between afforestation and the amount of
ground water. (2x2) (4)
255 Explain how human activities impact negatively on the quality of
ground water. (2x2) 4)
[60]

TOTAL SECTION A: 120
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SECTION B
QUESTION 3: GEOGRAPHICAL SKILLS AND TECHNIQUES

GENERAL INFORMATION ON GRAAF REINET

14

T

Coordinates: 32° 15'S, 24° 32'E

Graaff-Reinet is a town in the Eastern Cape Province of South Africa. It is the
oldest town in the province. It is also the sixth-oldest town in South
Africa,after CapeTown, Stellenbosch, Simon'sTown, Paarl and Swellendam.

The town lies 750 metres (2,460 ft) above sea level and is built on the banks of
the Sundays River, which rises a little further north on the southern slopes of
the Sneeuberge, and splits into several channels here.

The town is home to a number of tourist attractions, including the Dutch
Reformed Church in the town, which is a prominent stone building with seating
to accommodate 1 500 people. The town is also home to tourist sites such as
The Valley of Desolation, Camdeboo National Park and the Reinet House
Museum, aCape Dutch building, formerly the Dutch Reformed
Church parsonage.

[Adapted from: https://en wikipedia org/wiki/Graaff-Reinet

The following English terms and their Afrikaans translations are shown on

the topographic map:

ENGLISH AFRIKAANS
Diggings Delwerye
Furrow Voor

Golf course Gholfbaan
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River Rivier
Sundays River Sondagrivier

3.1 MAP SKILLS AND CALCULATIONS

311  The national road passing through Graaff Reinet is ...

A N1.
B N3.

C N9.
D N2 (1x1) (1)

312  The geographical feature/landform represented by line L on the
topographicmap is a ...

A valley.
B saddle.
C mesa.
D poort. 1x1) (1)

31.3 The map index to the orthophoto mapsheet south of the
photographed area is ...

24° 30an si sy 4alB" 00
Tl 1o e i i

1im2 i3 i4is5s
18" -} ... L
6i7 {8 ;90 ! 10

~ i S T P | el
16 i 17 (18 119 i 20
- P8 AR
21 j22 {23 124 {25
32° 30
A 21.
B 6.
g 1.
D 11. (1x1) (1)
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3.2

Copyright reserved

3.1.4  Given the difference in years for the magnetic declination on the

map as 15 years, determine the total annual change. 2x1)
315  Use the answer to QUESTION 3.1.4 to calculate current magnetic
declination. (2x1)
3.16  Use the answers to QUESTION 3.1.5 to calculate the magnetic
bearing of the communication tower in blocks G3; G4 from spot
height 821 in block G2.
Formula: MB =TB + MD (3x1)
MAP INTERPRETATION
3.2.1 Graaff Reinet is situated in a depression made by the surrounding
mountains.
a) These winds are most likely to blow during the night.
A Monsoon
B Katabatic
C Anabatic
D Westerlies (1x1)
Refer to the topographical map.
b) The Sundays River is a (perennial/non-perennial) river.
(1x1)
c) Mention the type of soil at M on the topographic map. (1x 1)
Refer to the orthophoto map.
3.2.2  Explain why Graaff Reinet is vulnerable to flooding. (1x2)
3.2.3  Give the drainage pattern that develops as water flows from
Spandaukop in block D2/3. (1x1)
324  Account for your answer in QUESTION 3.2.3. (1x2)
Please turn over
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325  The sketch below represents the area of blocks E8 to E10 and F8
to F10.

[Source: Examiner's own sketch]
a) The feature F is a watershed. What is a watershed? (1x2)
b) Determine the stream order at G. (1x2)
3.3 GEOGRAPHICAL INFORMATION SYSTEMS (GIS)

Refer to the photograph_below on satellites.

: -
[Adapted from: sciencesprings-WordPress.com)

3.3.1 Satellite images are stored in (digital /analogue) form, making them
very useful for GIS. (1x1)

3.3.2 A satellite image that shows weather patterns is called ...

A landsat.

B meteosat.

C geostationary.

D remote sensing (1x1)

Copyright reserved Please turn over
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333 A group (_)f learners have to conduct research on the Spandaukop
conical hill. They are required to use both primary and secondary
sources of information.

a) |s Spandaukop on the topographic map in block D2, a primary

or secondary data? (1x1)

b) Suggest a method that they can use to gather primary
information. (1x1)

¢) Discuss TWO disadvantages of using secondary sources of
data. (2x2)
TOTAL SECTION B:

GRAND TOTAL:

Copyright reserved
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PRINCIPLES FOR MARKING GEOGRAPHY - PREPARATORY SEPTEMBER 2023
The following marking principles have been developed to standardise marking process.

MARKING
e ALL questions MUST be marked, irrespective of whether it is correct or incorrect.
¢ Where the maximum marks have been allocated for a particular question, place an
over the remainder of the text to indicate the maximum marks have been
achieved.
e Aclear, neat tick must be used: v
o If ONE mark is allocated, ONE tick must be used: v
o If TWO marks are allocated, TWO ticks must be used: v'v/
o The tick must be placed at the FACT that a mark is being allocated for
o Ticks must be kept SMALL, as various layers of moderation may take place
¢ Incorrect answers must be marked with a clear, neat cross:
o Use MORE than one cross across a paragraph/discussion style question to
indicate that all facts have been considered
o Do NOT draw a line through an incorrect answer
o Do NOT underline the incorrect facts

For the following action words, ONE word answers are acceptable: list, name, state,
identify

For the following action words, a FULL sentence_must be written: describe, explain,
evaluate, analyse, suggest, differentiate, distinguish, define, discuss, why, how
The following action words need to be read within its context to determine whether a
ONE - word answer or FULL sentence is required: provide, what, tabulate and give.

NOTE THE FOLLOWING

o |f the numbering is incorrect or left out, as long as the sequence of answers to
questions is followed candidates can be credited

o Spelling errors if recognisable, award the marks provided the meaning is correct.

o Be sensitive to the sense of an answer, which may be stated in a different way.

¢ In questions where a letter is the accepted response, but the learner writes the
actual answer- award marks.

e There will be additional guidelines for the marking of certain questions. (*)

TOTALLING AND TRANSFERRING MARKS

e Each sub-question must be totalled
o Questions in Section A have five sub-sections, therefore five sub-totals per
question required. Section B has three sub-sections and three sub-totals.
o Sub-section totals to be written in the right-hand margin at the end of the sub-
section and underlined
o Sub-totals must be written legibly
o Leave room to write in moderated marks on different levels
e Total sub-totals and transfer total to top left-hand margin next to question number.
e Transfer total to cover of answer book.
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SECTION A: CLIMATE AND WEATHER AND GEOMORPHOLOGY
QUESTION 1: CLIMATE AND WEATHER

11 111 zZ(1)

117 Y (1) (7x1) (7)

12 121 B(1)
122 A(1)
123 D (1)
124 C(1)
125 A1)
126 A(1)
127 B(1)

128 D(1) 8x1) (8

1.3 1.3.1 Cold front (1) (1x1) (1)

1.3.2 Cold air undercuts the warm air, forcing it to rise rapidly and
(very) high (2)
Steep gradient of the cold front forces warm air to rise (very)
high (2)
[ANY ONE] (1x2) (2

Copyright reserved Please turn over
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1.3.3

1 x mark for the correctness
1 x mark for the correct positioning of the cold front

1.3.4 Temperature will drop (2)
Possibility of rainfall (2)
There will be hail (2)
[ANY TWO]

1.3.5 Cumulonimbus clouds are rain bearing clouds (2)

NW/September 2024

2x1)

2x2)

Cumulonimbus clouds are associated with thunderstorm activity

(2)

More rainfall will be expected in the Western Cape (2)
More water will infiltrate the soil (2)

Water sources will have more water (2)

[ANY THREE]

1.4 1.4.1 North west (1)

1.4.2 a) It was moving over the land/Mozambique (2)
It dissipated (2)
Cut-off from source of moisture (2)
[ANY ONE]

b) Trees will be uprooted/broken (2)
Vegetation will slant (2)
Soil will be exposed to erosion (2)
Biodiversity will be destroyed (2)
The ecosystem will be damaged (2)
The area will lose its aesthetic appeal (2)
[ANY TWO]

1.4.3 REASONS FOR THE ERRATIC PATH

(3x2)

(1x1)

(1x2)

2x2)

Heating and cooling occurs differently and this influences the path

taken by the cyclone (2)

The wind blowing over the ocean changes direction from time to

time and this influences the path taken by the cyclone (2)

When tropical cyclones move over the land they experience friction

over landmasses and lose momentum (2)

Copyright reserved
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1.5 1.5.1

1.5.2

1.5.3

1.5.4

1.5.5

NSC — Marking Guidelines
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PROBLEMS CREATED FOR THE DISASTER MANAGEMENT

TEAMS
They are unable to predict where it will hit next (2)
They don't know where cyclone will hit next (2)

They have less time to predict location of storm surges (2

)

They have less time to evacuate people from high risk areas (2)
Don't have enough time to gather emergency services (2)

They are unable to plan for effective evacuation plans in
advance (2)

Unable to give people advance notice to stock up on emergency

food/water/medical supplies (2)
[ANY FOUR]

(4 x 2)

A layer in the atmosphere where temperature increases with

altitude. (2)
[CONCEPT]

Cold weather (1)
At night (1)

No clouds (1)

In winter (1)

No wind (1)
[ANY THREE]

The inversion layer is closer to the surface. (2)

(1x2)

(3x1)

(1x2)

Air temperature decreases with height from 50m to 500m (2)

In the inversion layer, from 500m to 550m, temperature
increases with altitude (2)

Then from 550m to 900m, temperature decreases with
altitude (2)

[ANY TWO]

People will experience respiratory illnesses. (examples
accepted) (2)

There will be a problem of visibility (2)

This may lead to acid rain that may cause damage to
properties (2)

[ANY TWO]

QUESTION 2

21 21.1

2.1.2

2.1.3

2.14

Q1)

Copyright reserved
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215 P(1)
216 Q1)
217 Q1)
218 P(1) (8 x1)
22 221 B(1)
222 B(1)
223 B(1)
224 A(1)
225 B(1)
226 C(1)
227 B(1) (7 x1)
2.3 2.3.1 The flat land that is found along the river. (2)
[CONCEPT] (1x2)
2.3.2 a) Cross/transverse profile (1) (1x1)

b) River erodes downwards into the landscape (1) and deepen

the river valley (1)

As it gets deeper (1), the valley floor gets narrower (1)
Lateral erosion occurs (1) and widens the river valley (1)
River flanks widen (1) as a result of run-off down the valley
slopes (1)

[ANY TWO - Accept 2 x 1 if not qualified]

c)

Part marking guideline (2x2)

Natural levees develop along the river channel on the banks
of the river (2)

Natural levees built up by many floods (2)

Each time the river floods its banks it deposits alluvium
(material carried by rivers) on the banks building it higher (2)
Thickest and coarse sediment deposited at channel edges
(2)

Thin and fine sediment deposited over outer parts of the
floodplain. (2)

Later on, the river builds up natural levees which reduce
flooding (2)

[ANY FOUR] (4x2)

Copyright reserved

Please turn over

(8)
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2.4

2.5
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2.41

2.4.2

2.4.3

24.4

245

2.5.1

2.5.2

2.5.3

254

2.55
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Chattooga (1)

450 m (1) Range (440 to 460 m)

v
Wind g:;u:w”\x
A
Misfit stream»” i T -
: ™
E:J‘-TT_/” Watershed v
o /
25 VoA
Waterfall (2)

A river falling over a hard rock/steep slope/vertical cliff (2)

Headward erosion (2)

The river erodes backwards towards the source (2)

The river cuts through the divide (2)

The river is eroding the divide from the south/downstream (2)
[ANY TWO]

301 mm (1)

Water stored under the earth’s surface (2)
[CONCEPT]

Afforestation is the planting of trees. (2)

Afforestation increases the plant/vegetation cover (2)
Increased plant cover promotes infiltration (2)

More infiltration increases the ground water levels (2)
[ANY TWO]

Afforestation increases trees in the area (2)

More roots require water for plant growth (2)
More ground water is taken by the trees (2)

[ANY TWO]

Mining pollutes ground water (2)

Waste from human settlement seeps into the soil (2)
Acid rain water infiltrates the soil (2)

Leaching of soluble agricultural chemicals (2)

[ANY TWO]

NW/September 2024

(1x1)

(1x2)

(4x1)

(2x2)

(2x2)

(1x1)

(1x2)

(2x2)

2x2)

(2 x2)

TOTAL SECTION A:

Please turn over

(1)
(@)

(4)
[60]
120
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SECTION B
QUESTION 3: GEOGRAPHICAL SKILLS AND TECHNIQUES

3.1

3.2

Copyright reserved

MAP SKILLS AND CALCULATIONS

3.1.1

3.1.5

3.2.1

3.2.2

3.2.3
3.2.4

3.25

Mean Annual Change = 7’ west
Change in 15 years = 15 x 7° (1) west
=105 west (1)
Magnetic Declination =25°07 W+ (1)105 W
=25° 1122 W
= 26° 52" West of TN (1)
MB =TB + MD
=63 (1) + 26° 52’W (1) Range (62° 52’'W to 64° 52'W)

=89°52’'W (1) Range (88° 52'W to 90° 52'W)

a) B(1)
b) Perennial (1)
c) Sandy soil (1)

It is located too close to the Sundays River (2)
Located in the meander loop (2)

Radial (1)
Water flows in different directions from an elevated source. (2)

a) A high lying area separating adjacent drainage basins. (2)
[CONCEPT]

b) 3rd order (2)

(1x1)
(1x1)

(1x1)

2x1)

(2x1)

(3x1)

(1x1)
(1x1)

(1x1)

(2x1)
(1x1)

(1x2)

(1x2)

(1x2)

Please turn over

(@)
(1)
(@)

()
()
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3.3 GEOGRAPHICAL INFORMATION SYSTEMS (GIS)

3.3.1 Digital (1) (1x1) (1)

3.32 B(1) (1x1) (1)
3.3.3 a) Secondary data (1) (1x1) (1)
b) Visit Spandaukop (1) (1x1) (1)

c) ltis not always accurate and reliable (2)
It is distorted (2)
Data may be outdated (2)
Information may be biased (2)
[ANY TWO] (2x2) (4)

TOTAL SECTIONB: 30
GRAND TOTAL: 150
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